DJ-Tech

Professional

FESSIONAL OUAL Cd PLAYER

® [luaa'é'a'r;"s'a +mu|| \[uaﬁ'é'a'is"s'a ------ +mn]|
@ . ©° . & .,ﬂ_ XS]
MIEI o
| e e— Q
(@) O)
C]A
° ° e ° °
O . s . O




CONTENT

ELECTRIC PROPERTY CRITERIA ----nmnmmmmmmmmmmm oo 1
BLOCK SCHEME--mnmmmmmmmmmmmmmm e 2
SCHEMATIC CIRCUIT-mnmmmmmmmmmmm e e 3
TRIODE. INTEGRATED FORM --cnmmmmmmmmm e 6
WIRING DIAGRAM o mmm e 7
COPPER M A P o e e e 8
DISTRIBUTED -n-nmmm e e 11
EXPLODED VIEW-nmmmmmmm e 16
210 ). (S 21
NOTE ON SAFETY AND MAINTENANCE----mnmmmmmmmm mmmmmmeme oo 28



1.Electric property criteria

PARAMETER
Lined quartification : 24 bits
Sanpling frequercy : 44.1khz
Oversanpling : 8X
D/A Converter 24 bits
Frequency response : 20 Hz -20 KHz
Harnonic distortion: 0.03%
Sigrel/noise (A weighted): (-70dB)
Dynamic: 80 dB
Sepaation 45dB
Output leve: 2V
Load impedance : more than 10 KOhms
Spead edge (PITCH): (+/-16%)
Power supply: 110V/220V (115V/230V) AC 25 W
Dimensions Control unit482 x 90 x 65 mm(width x height x depth)
Mainunit: 482 x 90 x 250nm.(width x height x depth)
Weidht: 6.3 kgs

Specifications are subject to change without notice.



ZESS3IN 90-vZ LLGINS+(L065NLZ6dY y28.VVS N4
Nooys ljue oAlSS yoel

Jayyjdwe 1ayng

AIM
d1¢9l ( )
$S068(€09rad) Ndd
aALIp |O\O|
€09 a1

2.block scheme




ane ano

N w T 63aed

iRy

e ano

= loza

— 04

squo T

FLEFFrr T
o a1
@ EY

ororoHRL

3

0oL
v

nasnnadiigan
| | 1]

HroL
fal

L gE
zo =0

IC CIFrCul

In uni

NoaND

615 a1

© a0 aNe a0 cnecno anoane

z
s Lol el ml H |

anoans o

st

e

15
il

ez,

oLty
\

—ar—Jvee

szan)

SoInon

anoane auo ang|

o
5T

.
]

ro——

s X
. = i i
3 f— o La P —

Bt

anoae

ol b
Ly

501
o83

o2
% |

Hi—

5

Ma

3.Schemat




3.Schematic circuit

Main unit

D16
1
N
RILS IN4148
1KO K28 CNP13
[ em—
JLEDIL + g
A GND|
1
V1
C54 1103 LM7808 CN8
CN7 d |
1 5 [+VCC
D13 |cse| 3
g > by 60 L 2 |ac
3 IN5404 e 1000ufi16VT 3 [GND
2 2 |+gv
GND _ ~yD14 REY AN
1 0 (S V3GND 1sv
LM7808 1
C58'103 1 GND|
C5 b
1000uf/16V
GND CN9
v — 3 [
LM7808 3 oND
2 [+8V
C55 o 1 |+sv
1000uf/16V]
1 GND
GND
PKL FUL
(e ~=
CN12 l CN11
3 C64103 AC~400v C63 3
103 AC~400V
2 2
1




3.Schematic circuit

Control unit

T T z
cNP2 45 Lcp2 K2 K14 K23 K24 K25 K26 K19
8PIN LCD-M1020-TP-1 SRGPHT3200 OPEN  CUE PLAY - + PITCH
@~ @0 e -
@ R202 & Ra03 |0 R204 & RD5 O R201 (O
sk T 8K2 SK1 3ke 24 o
@m0 o - o o
T <
& ok
K15 K20 K21 K16 K17 K22 K18 C123
TME L sec PROG 9 LooP 101
d
D2 R198
4002 10K
P ciie
10UF116V
5
8
16 R200
100
@ o
s = 65 R199
Soo14 i3
ol cumsweroeg|Cl
- T oT T~ %Mcu-20
+5 ‘
I
= 3 55
o ES BB
= 5 w© %%
~ x x 22
S wo
il 5
o c1a1
o + ——c128——104
4 101
&
S + + = = 5| af 3] 2
- N3 ¢ I
f6 15 pa 13 ho h1 0 o 4 5 b 2 « o O 00
CN2| ~ O O YoYaya) ~ 0 O 2
W O00000000000000J0] 603A-025C i
Lco1
CNPL sKL K6 K13 K12 K11 K10 K1
L 8PIN LCD-M102 SRGPHT3200 PITCH  + - PLAY 3 OPENICLOSE
@~ @0 e -
SR R150 R153 |0 RI57 O R1S6 O R155 O
q 13K q 8Kk2 5K1 q 3K9 q 2K4
@6 T m - o} ‘ (o} o o
R137 - - - - - - -
62K
K2 K3 Ka Ks
TIME SGL PROG LooP =l 10+ lec 101
H DL
4002
L]
c13
10uF/16V]
cua VR
10uF/16V
c1o0 101
c12 01
104 cos
= cos 1t
coo 101
A
N
C10
100F/16
5
6 15 ha [13 h2 h1 |0 o 4 5 W }1
L PFRPPET P PP P L DJ-603A-01SCH
WwN Q0000000000000
e
Size Number Revision
I
[
T




4.Triode. integrated form

41¢910s3

L]
41¢913s3

Nd3 €09ra

NdJ €09rd

€el6

THYZ8.VVYS

THYC8.LVVS

N126dVY

dvOoOHYV.

dv0OHYV.

0vO0vOH

0¥0¥OH

106

HJ69Y LN 32/ LINDd dzessIN Zr0.ve i _ _
00000000

HdB9Y LN ﬁ 106
UU0UUUUUU

G106 0558S €eLV Gv69 0608S

G106 05583 X VAY G¥60 0908S

N

N

WwJioj peyeibeul

“8poLl|



5.Wiring diagram

[ o4

o (e} o o
— o [ o —

— Y —
— osz Agly —

e
HOLIMS 100 TLOIa C— | w390 Ton 00 anasAH NOOHE OMIMTAW W5, voume 1no wueia —
— ., —
. 0
. & 4 — o, 2 A, —
.
& 340 NO — 0L 193NNOD 1no olany "“ 440 No % — 0L 103NNOD 4no olanv
* 100 w01 € vouNod iz o 3, o e 13  woulioaicha wm uvow
%)
N .
O [ e (A [ o O
: ) o y ) o
: "
N e
0
& YNIHO NI 3aVW MSZ ZH09/ZHOS N0EZINTT :30uN0S MIMTY

PROCESSING PROCESSING

POWER PCB

= POWER DNIOFF’o.
H o

i o
FRONT PCH

i
k3




N SF mf o
. r - H.l/(H‘Y\ o

© e
»
.s_ T @ H

. .










7.Distributed

main unit

13

=) = O

g
7ol et @ D
B3 . fii‘v%

@ I:D ___J? 10U0s.3

£0£050

.
© £17 Cls o

alce)

s 2OMH322D O I
‘ *ng
o @D

820-83d 9205
¥13J
@
Gers

bl

o)} B 9 o
R16 {33 .0 |= < 2
o 7
4148 ‘ 02 g,\) o 7=
g®@ D
8 2
D o S
U o B@;
= Nt O Bles] -
R26 os] 7 <
- RS oy I o &
-y o
—
[ ) (= N e
5 2z 1K H _:'_C3 o
< R36 —IOK}- 083 =1
w| 134 CNS | -@@ b
i 37
— - I
160,0. 254 = cofd
T40 ] 1 & s Cx o
— = || ! Ci7 D jaz D sz =5 @ 7 -
! QP — & g 00 &
—_— | = R48 D
) QR 32 (D2
—_— | o 3h4g O @
2 KT I &
o R50 1 x a
Z 859 a
— R54 p57 O==
hen-g- O ras. V68
5
o . 3 B050)
S
N (e}
= @
1 B g
o
. O-=x
o 330
o
S ‘L
J62 X Tel N 4 :
! 4 IS
! = oK g
] 2P(1748) 2 -
o < 2 5
gl 3P(1748) . % o@
| 1P(1748)  _je4 sl
] 16P<1748) N C75
o X c76 -
47U6.3
g > )
N [SUSI] @ kN 5]
e | | P9 e,
g2 SN N
S ) 80
o
-
)
FiH.
© [s]
N @D
RIp4 §4> N D13 |
w = >| N
o LS ~A~Tes|w 4148' Rioe
3 ® 10UH
—+ 2206 RO o
=1 Sigl L B o

a1z

BNJ
[
6071
801y,
280
X0
8y
+10
o(8
N
g{‘)
E}GJQ
[S)00) 4}

4074




7.Distributed

Main unit

L
L
—— T

T
| T

T

T
I T

T

T

T

T

T

T

T

T

T

T

4444

|_I3L:l
]
|:|_

-
< -
11
\
TIE
(I_ A
C 1~
\
|




7.Distributed

Main unit
o 3PIN%2, 54 4PIN%2,54 |
A CN10 N7
Bhh T P ¢
allgl = 1
0 €20
2 <« <
o DI5 e|l @
'1 9] 10
c 0O
s g@ e C54 @1
el &
d *o
& a
) ” oo
o 23 =X
8 XN o
o < 1 O] 2 2o
S\ & ax | ¥ 3a
(::) o I
=N o8
03] =
gl o [l Dl Q
XXX g ” <§LEDI2 &
<,°_°|.ED11 o
S o & W Eig
8 2 @ p| T
s\ € S Mo c|LEDL3 BED
2 e ol @ oU
- e
795 S s J.E;;
N WO | =
_1 O :32 OR w)l |E
% %0 N O
3 @ ] oW| 2 =g
o] SPIN*2.54 Jo NI
® 1 o —
&
602B PCB-03 o oo DT
050920 cc O _E}
S5PIN%2. 54

602 PCB-04
050920

96 "EHN
TIND

_{03,aCc”40hu

Cé3

103 2AC~7400U

Lé4

UH3. 86
CN12

IN1




WWoz

E

— Z0-83d 'Y-£09ra +1300U cozermagus

S1-¢-+002 I8
UUG
" [
WWS
S 9T
o

WWG "2
8EL
WS "2
)7y
W
8t

[ ]

+G "Z%NIdS

=
3=
¥is
=
NE=
¥io

WWS

1210

[A[X[s]%
Ed
N|
I
|
g
ENJ
=z
]
L
o
@ ]
a
ano
[
o
— O

ELIY

3 ]
7. o NNX@ @ (& @sz
O— WIW! 4] 0ZxA
g3 N 3] HHG
7.,m 3 @ O o
: i O
) 35 [0l
a3y WWS S huat_ -
8031 2031 Lo ) o s eT
MOTT3A 2y e O
3 10
Mg T S\ ERERRS ! o
€2r R ES
| ¥
— [e4]
”H_ < 00| [z
D " 3| &
L 5 e |
O + S
] N9 +I
als zoov
S za
= ez —/ 1-dL-6Z01W-405/802 T6ZH K
8zt J J
R R
N - LaCom o 00Z€(Hd9AS
10-83d *v-£09r0 271300U vis
b O @ o i @ b @
ETA (A% T
g @ ot
o
2
8 a3 g
] ol N3349 =
E: o] 5031 $031 H
m..H 7 77 1=
WZ
LG WWG N
@ mv“u @ > @ W:\MAW_
UWNS WHS
- : O
MO113A i)
7/ Zaa a3t
a3y HS "
€031
WWOT T 77 g |

=1

I

WWOT

WWOT 2¢
—
|-

Control uni

Z00p
1-d1-6201U-40S/Y0Z T¥ZH 1a

7.Distributed

JING’E
[

$G"Z%NId8

EdNJ

=]

(S ee)
ik}

2
o

G1-2/-+00Z

aNg @ D

=]
ay:

=0

o=
=)

Z0ZSBE#

0




7.Distributed

Control unit

»9 1
*B
R163
I_I 100 E j
C133
22 '1311:158 iCd
SuoN c131 o5
M Lo4 106 @n
LiLJ 52 =23 E: O
—_ o> 25N o o &=
228 oM I 2 rEc3 N
M N S - LI%g ml Ri27C T Ll
— u wreg Lty O L DL Ceps a2
%% Ea —q 20
v ) 22
52 Bl7s M M = ]R3 2zl |
(] I:ll_l?& RO QL
6 o 3E C Jrso 1K3 |:|
85 R182 Dx t
Ll 22C -
N 40
T ' 24 :
38 2222 Tc12 O O . M
Orfm U O 5% i n
|_| PRI |_|
|_||_||_| |_||_| mr 3 NN LI [M]
XN i e
SRy =5 &
= BB L
INOZ «
LRy
C132 —
C ioi | C 820 L]
RI8D R147
28 ] L% Crer 510 C3
k< 5 510
M o
u M
H [
M
Y% M,z 0 on
oB rigs — T LI5 wR u
3 % 9
r R156 “a
L Camee E:Ig?ga
RS ] C%% M
\¥ U C3=
wWC Mz O =
100 =2M O e CRy
L “g RI79 5% ok 2
32 (N 2K4 °
°8 L4 = -2 .2 HT1621B 5
C1 wriezis |2 oy oy o =
R178 R134
m 6K2 Ejpl?oo 0.2 CaCa 100 J
L Snaa RL33
L - C3 dgo WL R145 C 8k
N 22 I::" | 2K i Cl%%E l 1 %%3[]
S c127 C cizs L 104
_ (o 104 Q O
O -4 =
o= P — v-9
a3 Rz —
v
- O SERSTT M
LT TR " D24 sl L] L]
o e = S
W_| a1 4148 2" o o2z sy T1 M
#&_| 030 4148 e N U U
M | 029 4148 4148 e |
4] D28 4148 _1nz0
D27 4148 Ce]iite °”2|: :l
Calge i
u3
O —— 7805
137
106
€109
106




MAIN UNIT
f !
)
W 16 12 17

IELZ/OCLZANOS (§)




MAIN UNIT
No. Part No. DESCRIPTION SPECIFICATION UNIT [ QUANTITY
1 DJ603B01 (|upper cover PCS 1
2 DJ603B02 ([front panel B PCS 1
3 | DJ603BO3 |bottom panel PCS 1
4 | DJ603B04 |[rear panel PCS 1
5 | DJ603B05 [cartridge&CD holder 08B-213Q bCS 2
6 | DJ603B0O6 [gate for CD PCS 2
DJ603B07 (button for power switch PCS 1
9 | DJ603B0O9 [button with 2 PCS 1
10 | DJ603B10 |[support for power switch PCS 1
11 | DJ603B11 |radiator DJ602B PCS 1
12 | DJ603B12 |foot for main unit M3X50X12 PCS 4
13 | DJ603B13 [transformer E157-F5730184 PCS 1
14 | DJ603B14 |plastic pillar DJ601B(L=49,M3) PCS 4
15 | DJ603B15 (clamp for power cord PCS 1
16 | DJ603B16 |power cord QL-203 PCS 1
17 | DJ603B17 [connector DJ603 SET 1
18 | DJ603B18 |[copper pillar for fix CD holder $8x16.4-16.5 PCS 8
19 | DJ603B19 (|fix pillar for PCB -8 PCS 8
20 | DJ603B20 [big cheese head screw M3X6 plating nickel PCS 14
21 | DJ603B21 (cheese head tapping screw M3X12plating nickel PCS 4
22 | DJ603B22 |sunk tapping screw M3X8plating nickel PCS 10
23 | DJ603B23 |tapping screw with washer M3X8plating nickel PCS 5
24 | DJ603B24 |tapping screw with washer M3X6plating nickel PCS 6
25 | DJ603B25 [screw with washer M3X6plating nickel PCS 29
26 | DJ603B26 |fixer PCS 2
27 | DJ603B27 [2oo Win washerswashieastc | hgxg seT | 2
28 | DJ603B28 |tapping screw with washer M3X10plating nickel PCS 8
29 | DJ603B29 |sunk screw M3X8plating nickel PCS 5
30 | DJ603B30 |bigcheese head tapping screw |M3X6plating nickel PCS 4

(17)




MAIN UNIT

No. Part No. DESCRIPTION SPECIFICATION UNIT |QUANTITY
31 | DJ603B31 [foam PCS 2
32 | DJ603B32 |plastic bag 730X380 PCS 1
33 | DJ603B33 |manual PCS 1
34 | DJ603B34 [bag for manual 220X330 PCS 1
35 | DJ603B35 |gift box 525X405X163 PCS 1
36 | DJ603B36 |[outer carton 545X425X675 PCS 0.25
37 DJ603B37 connector(8Pin) PCS 2
38 | DJ603B38 |RCA cord PCS 2
39 | DJ603B39 |laser label PCS 2
40 | DJ603B40 (radium radiation label PCS 1
41 | DJ603BA1 [support for PCB of main unit PCS 4
42 | DJ603B42 |red gel PCS 1
43 | DJ603B43 |plack gel PCS 1
44 | DJ603BA44 (silicon gel ®11X268 PCS 1
45 | DJ603B4S |tube ®3X20 PCS 2
46 | DJ603B46 |type @ 40x55 PCS 1
47 | DJ603B47 (packaging tape WIDTH47mm M 2
48 | DJ603B48 liine 3X100 PCS 6
49 | DJ603BA49 |sN abel PCS 4
50 | DJ603BSO0 (copper radiator PCS 2
51 | DJ603B51 [tapping screw with washer ST3X5plating nickel PCS 4
52 | DJ603B52 [power switch PCS 1
53 | DJ603B53 [PCB for servo PCS 2
54 | DJ603B54 |PCB for power PCS 1
55 | DJ603B55 |main PCB(main board) PCS 2
56 | DJ603B56 |PCB for close/open PCS 1
57 | DJ603B57 [tube ®5x20 PCS 1




CONTROL UNIT




CONTROL UNIT

No. Part No. DESCRIPTION SPECIFICATION UNIT [QUANTITY
1 DJ603A01 |front panel A PCS 1
2 DJ603A02 |rear body PCS 1
3 DJ603A03 [button with 12 DJ603A PCS 2
4 DJ603A04 |button for close/open PCS 2
5 DJ603A05 |support for buttons PCS 2
6 DJ603A06 |glass PCS 2
7 DJ603A07 |support for PCB of output PCS 2
8 DJ603A08 |fixer PCS 2
9 DJ603A09 |jog wheel PCS 2
10 | DJ603A10 (shuttle wheel PCS 2
11 | DJ603A11 |button for potentiometer PCS 2
12 | DJ603A12 (foot for control unit PCS 4
13 | DJ603A13 |washer M3X12X1plating nickel | PCS 4
14 | DJ603A14 |screw with washer M3x12plating nickel PCS 4
15 | DJ603AL5 [cheese head screw ST3x6plating nickel PCS 7
16 | DJ603A16 |nut M3 PCS 7
17 | DJ603AL17 |cheese head tapping screw ST3x6plating nickel PCS 22
18 | DJ603AL18 [sunk tapping screw ST3x6plating nickel PCS 8
19 | DJ603AL19 [sunk tapping screw ST3x8plating nickel PCS 6
20 | DJ603A20 |big cheese head tapping screw |[M3x6plating nickel PCS 8
21 | DJ603A21 (paper washer M3X8X0.5 PCS 2
22 | DJI603A22 [bag for unit 580X200 PCS 1
23 | DJ603A23 [foam PCS 2
24 | DJ603A24 |PCB for control 1 dj603-a.pcb-01 PCS 1
25 | DJ603A25 [PCB for control 2 dj603-a.pch-02 PCS 1
26 | DJ603A26 |PCB for output dj603-a.pchb-03 PCS 2




No. | PartNo. DESCRIPTION SPECIFICATION UNIT [QuANTITY
1 [DJ603-001 |jumper 5MM PCS 32
2 |DJI603-002 |jumper 6MM PCS 5
3 |DJ603-003 |jumper 7.5MM PCS 54
4 |DJ603-004 [jumper 10MM PCS 38
5 |DJ603-005 |jumper 15MM PCS 32
6 |DJ603-006 |jumper 18MM PCS 1
7 |DJ603-007 |jumper 20MM PCS 16
8  |DJ603-008 [resistor 1/2W 10 OHM PCS 2
9  |DJB03-009 [resistor 1/4w10 OHM PCS 2
10 |DJ603-010 [resistor 1/4w100 OHM PCS 2
11  |DJ603-011 |resistor 1/8W 0 OHM PCS 2
12 |DJ603-012 |resistor 1/8W0.22 OHM PCS 2
13 |DJ603-013 |resistor 1/8W 1 OHM PCS 6
14 |DJ603-014 |resistor 1/8W 10 OHM PCS 12
15 |DJ603-015 |resistor 1/8W 22 OHM PCS 2
16  |DJ603-016 [resistor 1/8W 33 OHM PCS 4
17 |DJ603-017 |resistor 1/8W 56 OHM PCS 2
18 |DJ603-018 |resistor 1/8W 91 OHM PCS 2
19 |DJ603-019 |resistor 1/8W 100 OHM PCS 50
20  |DJ603-020 |resistor 1/8W 330 OHM PCS 2
21 |DJ603-021 |resistor 1/8W 470 OHM PCS 12
22 |DJ603-022 |resistor 1/8W 680 OHM PCS 2
23 |DJ603-023 |resistor 1/8W 1K PCS 8
24 |DJ603-024 |resistor 1/8W 1K2 PCS 4
25 |DJ603-025 |resistor 1/8W 1K8 PCS 2
26 |DJ603-026 |resistor 1/8W 3K3 PCS 14
27 |DJ603-027 |resistor 1/8W 3K9 PCS 12
28 |DJ603-028 |resistor 1/8W 4K7 PCS 2
29  |DJ603-029 |resistor 1/8W 5K1 PCS 4
30 |DJ603-030 |resistor 1/8W 5K6 PCS 4
31  |DJ603-031 |resistor 1/8W 6K8 PCS 2
32 |DJ603-032 |resistor 1/8W 10K PCS 20




No. | PartNo. DESCRIPTION SPECIFICATION UNIT [QuANTITY
33 |DJ603-033 |resistor 1/8W 22K PCS 4
34 |DJ603-034 |resistor 1/8W 24K PCS 2
35 |DJ603-035 |resistor 1/8W 39K PCS 2
36  |DJ603-036 |resistor 1/8W 47K PCS 6
37 |DJ603-037 |resistor 1/8W 100K PCS 10
38 |DJ603-038 |resistor 1/8W 470K PCS 4
39  |DJ603-039 |resistor 1/8W 1M PCS 2
40  |DJ603-040 |resistor AK7*8 PCS 4
41 |DJ603-041 |resistor 10K*8 PCS 4
42 |DJI603-042 |resistor 0805 2.2 PCS 1
43 |DJI603-043 |resistor 0805 22 PCS 2
44 |DJ603-044 |resistor 0805 100 PCS 5
45  |DJI603-045 |resistor 0805 2.4K PCS 4
46 |DJI603-046 |resistor 0805 3.9K PCS 4
47 |DJ603-047 |resistor 0805 470 PCS 10
48 |DJ603-048 |resistor 0805 5.1K PCS 4
49  |DJ603-049 |resistor 0805 8.2K PCS 4
50 |DJ603-050 [resistor 0805 1K PCS 9
51 |DJ603-051 |resistor 0805 13K PCS 4
52 |DJ603-052 |resistor 0805 2K PCS 2
53  [DJ603-053 |resistor 0805 2K2 PCS 2
54  |DJ603-054 |resistor 0805 22K PCS 4
55 |DJ603-055 |resistor 0805 24K PCS 2
56 |DJ603-056 |resistor 0805 3K3 PCS 2
57  |DJ603-057 |resistor 0805 62K PCS 2
58  |DJ603-058 |resistor 0805 10K PCS 3
59  |DJ603-059 |resistor 0805 1M PCS 1
60 |DJ603-060 |capacitor 0805 20P PCS 2
61 |DJ603-061 |capacitor 0805 101 PCS 4
62 |DJ603-062 |capacitor 0805 104 PCS 10
63 |DJ603-063 [inductance 10UH PCS 6
64 |DJ603-064 |capacitor 22P/50V PCS 4




No. | PartNo. DESCRIPTION SPECIFICATION UNIT [QuANTITY
65 |DJ603-065 [capacitor 47P/50V PCS 2
66  [DJ603-066 [capacitor 101/50V PCS 32
67 |DJ603-067 |capacitor 102/50V PCS 4
68 |DJ603-068 |capacitor 103/50V PCS 4
69 |DJ603-069 |capacitor 104/50V PCS 54
70 |DJ603-070 |capacitor 222/50V PCS 4
71 |DJ603-071 |capacitor 223/50V PCS 2
72 |DJ603-072 |capacitor 271/50V PCS 4
73 |DJ603-073 |capacitor 473/50V PCS 2
74  |DJI603-074 |capacitor 332/50V PCS 4
75 |DJ603-075 |capacitor 103/AC~400V PCS 2
76  |DJ603-076 |capacitor 16V10UF & 5*11 PCS 22
77 |DJI603-077 |capacitor 25V10UF & 511 PCS 4
78 |DJ603-078 |capacitor 16V22UF & 5*11 PCS 10
79  |DJ603-079 |capacitor 100U16V & 6.3%7.5 PCS 6
80 |DJ603-080 |capacitor 16V220UF d 6*13 PCS 4
81 |DJ603-081 |capacitor 10V470UF ¢ 8+13 PCS 2
82 |DJ603-082 |capacitor 16V/47UF & 4*7 PCS 18
83  |DJ603-083 |capacitor 16V/1000UF ¢ 10*18 PCS 3
84 |DJ603-084 |capacitor 16V/2200UF & 12*21 PCS 1
85 |DJ603-085 |capacitor 25V/2200UF & 12*25 PCS 1
86 |DJ603-086 |diode IN4148 PCS 18
87 |DJ603-087 |diode IN4002 PCS 4
88  |DJ603-088 [diode 2V7 1/2W PCS 4
89 |DJ603-089 [diode 3V9 1/2W PCS 2
90  |DJ603-090 [diode 10V 1/2W PCS 4
91 |DJB03-091 |diode IN201(2A/100V) PCS 2
92  |DJB03-092 |diode IN5404(4A/400V) PCS 2
93 [DJ603-093 [triode C9014 PCS 8
94  |DJ603-094 |triode A733 PCS 6
95 |DJ603-095 [triode C945 PCS 2
96  |DJB03-096 [triode S8050 PCS 8




No. | PartNo. DESCRIPTION SPECIFICATION UNIT | QUANTITY
97  |DJE03-097 |triode S8550 PCS 4
98 |DJE03-0%8 |triode S9015 PCS 2
99 |DJED3-0% |iC 7805 PCS 2
100 |DJE03-100 [LED(red) 3R4SD-3 PCS 6
101 |DJE03-101 |LED(yellow) PCS 2
102 |DJE03-102 [LED(green) 3G4UD-23 PCS 2
103 |DJED3-108 [LED(blue) 3B4SW-27 PCS 1
104 |DJE03-104 [IC 74HC4094 PCS 2
105 |DJE03-105 |IiC PCM1742 PCS 2
106 [DJE03-106 |iC MCU-20 PCS 1
107 |DJB03-107 |ic HT1621B PCS 2
108 |DJE03-108 |[triode SOT-23 9014 PCS 2
109 |DJE03-109 [diode D1206 4148 PCS 16
110 |DJRO3-110 [iIc 74HC04 PCS 2
111 |DJE03-111 |iC 74HC4040 PCS 2
112 |DJe03-112 |[ic 5V NT511740C5J-60S PCS 2
113 |DJA03-113 |capacitor A 106C S10K3 PCS 13
114 |DJRO3-114 [IC NE5532 PCS 4
115 |DJB03-115 |iC 24C04 PCS 2
116 |DJE3-116 |IC BA7042 PCS 2
117 |DJE03-117 |iC LM7808 PCS 2
118 |DJB3-118 |IC SAA7824 PCS 2
119 [DJe03119 [ic MM1469PH PCS 2
120 |DJED3-120 |ic PA921IN PCS 2
121 |DJR03121 [iIc 87C54 PCS 2
122 |DJA03-122 |connector DJ603 PCS 1
123 |DJB03-123 |pin socket 3P*VH3.96 PCS 1
124 |DJB03-124 |[pin socket 3P*2.54 PCS 1
125 |DJB03-125 |pin socket 4P*2.45 PCS 1
126 |DJB3-126 |pin socket PH2.0*5P(40P) PCS 2
127 |DJA03-127 |[pin socket PH2.0*17P(40P) PCS 2
128 |DJE03-128 [RCAsocket AV1-8.4-8 BLACK PCS 2




No. | PartNo. DESCRIPTION SPECIFICATION UNIT [QuANTITY
129 |DJ603-129 [RCA socket AV2-8.4-14RED/WHITE PCS 2
130 [DJ603-130 |S terminal $8-03 PCS 4
131 [DJ603-131 |MIC socket CKX-3.5mm-02 PCS 2
132 |DJ603-132 |LCD 780287-2 16MM PCS 2
133 |DJ603-133 |light sheet(pale yellow) CA803A-01 PCS 2
134 |DJ603-134 |potentiometer SC6005NOBOX-HA1-027 | PCS 2
135 |DJ603-135 |relay YL-202H-DV6 PCS

136 |DJ603-136 |encoder SRGPHJ3200 PCS 2
137 [DJ603-137 |crystal oscillator 20MHz PCS 2
138 |DJ603-138 |crystal oscillator 10MHz PCS 1
139 |DJ603-139 |touch switch 5MM PCS 28
140 |DJ603-140 [IC socket 40P PCS 2
141 |DJ603-141 |power switch T12-42 PCS 1
142 |DJ603-142 |selector for voltage L21-22A2 PCS 1
143 |DJ603-143 |selector for digital output SS22L15G4 PCS 2
144 |DJ603-144 |fuse box metal PCS 2
145 |DJ603-145 |fuse T500mA/250~V PCS 1
146 |DJ603-146 |inductance 1UH PCS 4
147 |DJB03-147 |Pick up lens(cartridge) SONY-213Q PCS 2
148 |DJ603-148 |holder for CD GL-08B PCS 2
149 |DJB03-149 |PCB 1 for control DJ603-A.PCh-01 PCS 1
150 |DJ603-150 |PCB 2 for control DJ603-A.Pch-02 PCS 1
151 |DJ603-151 |PCB for close/open DJ603-b-PCB-03 PCS 1
152 |DJ603-152 |main PCB(main board) DJ602-B PCB-02B PCS 2
153 |DJ603-153 |PCB for power DJ602.PCB-03 PCS 1
154 |DJ603-154 |PCB for power switch DJ602.PCB-04 PCS 1
155 |DJ603-155 |PCB for output DJ603APCB-08 PCS 2
156 |DJ603-156 |PCB for servo DJ602-B PCB-11B PCS 2
157 |DJ603-157 |clamp for power cord PCS 1
158 |DJ603-158 |radiator LH-082(40mm) PCS 1
159 |DJ603-159 [front panel B PCS 1
160 |DJ603-160 [front panel A PCS 1




No. Part No. DESCRIPTION SPECIFICATION UNIT | QUANTITY
161 |DJ603-161 |copper radiator 19*20MM PCS 2
162 |DJ603-162 |upper cover DJ601B-04 PCS 1
163 |DJ603-163 |bottom panel DJ602B-02C PCS 1
164 |DJ603-164 [rear panel DJ2500B-03 PCS 1
165 |DJ603-165 |rear body DJ613A-03 PCS 1
166 |DJ603-166 [support for power switch DJ613B-09A PCS 1
167 |DJ603-167 |support for PCB of output CDX-3A-12 PCS 2
168 |DJ603-168 |fixer CDX-3A-13A PCS 2
169 [DJ603-169 [button for close/open PCS 2
170 |DJ603-170 |button with 12 PCS 2
171 |DJ603-171 |button with 2 PCS 2
172 |DJ603-172 |glass PCS 2
173 |DJ603-173 |foot for control unit G2 plastic PCS 4
174 [DJ603-174 [foot for main unit M3X50X12 PCS 4
175 |DJ603-175 |washer ® 12*3(BLACK) PCS 4
176 |DJ603-176 |copper pillar for fix CD holder b 8*16.5 PCS 8
177 |DJ603-177 |cheese head screw (with washer) M3*12(plating nickel) PCS 4
178 |DJ603-178 |cheese head screw M3*6(plating nickel) PCS 7
179 [DJ603-179 |big cheese head screw M3*6(plating nickel) PCS 14
180 |DJ603-180 [big cheese head tapping screw M3*6(plating nickel) PCS 8
181 |DJ603-181 |big cheese head pointless tapping screw  [M3*6(plating nickel) PCS

182 |DJ603-182 |sunk tapping screw M3*8(plating nickel) PCS 16
183 |DJ603-183 |sunk tapping screw M3*6(plating nickel) PCS 8
184 |DJ603-184 [sunk screw M3*8(plating nickel) PCS 5
185 |DJ603-185 |cheese head tapping screw with washer M3*8(plating nickel) PCS 5
186 |DJ603-186 [cheese head tapping screw with washer M3*6(plating nickel) PCS 2
187 |DJ603-187 |big cheese head pointless tapping screw  |M3*5(plating nickel) PCS 4
188 [DJ603-188 |cheese head tapping screw M3*6(plating nickel) PCS 22
189 |DJ603-189 |cheese head slotted tapping screw M3*12(plating nickel) PCS 4
190 [DJ603-190 | screw with washer M3*6(plating nickel) PCS 29
191 |DJ603-191 [cheese head tapping screw with washer M3*10(plating nickel) PCS 8
192 |DJ603-192 |cheese head screw (with washer) 4*8 PCS 2

(26)




No. Part No. DESCRIPTION SPECIFICATION UNIT | QUANTITY
193 [DJ603-193 [flat washer M4 PCS 2
194 |DJ603-194 |elastic washer M4 PCS 2
195 |DJ603-195 |nut M4 PCS 2
196 |DJ603-196 |nut M3 PCS 7
197 |DJ603-197 [paper washer & 3*8*0.5MM PCS 2
198 [DJ603-198 |button for potentionmeter PCS 2
199 |DJ603-199 |gate for CD PCS 2
200 |DJ603-200 |button for power switch PCS 1
201 |DJ603-201 |decorative frame for power switch button PCS 1
202 |DJ603-202 |support for buttons PCS 2
203 |DJ603-203 |jog wheel PCS 2
204 |DJ603-204 |shuttle wheel PCS 2
205 |DJ603-205 |transformer E157-F5730211 PCS 1
206 |DJ603-206 |plastic pillar M3*49 PCS 4
207 |DJ603-207 |power cord QL-312+VH3.96 2*0.75*2M PCS 1
208 |DJ603-208 [fixer for LED b 5*7 PCS 11
209 |DJ603-209 |fix pillar for PCB H8MM PCS 8
210 |DJ603-210 |foam DJ603 PCS 2
211 |DJ603-211 |manual PCS 1
212 |DJ603-212 |RCA cord 2P*1.2M PCS 2
213 |DJ603-213 |connector 8pin PCS 2
214 |DJ603-214 |gift box PCS 1
215 |DJ603-215 |outer carton PCS 0.25
216 |DJ603-216 [tube b 40*55 PCS 1
217 |DJ603-217 |tube b 3*20 PCS 2
218 |DJ603-218 |tube b 5*20 PCS 1
219 |DJ603-219 [laser label PCS 2
220 |DJ603-220 |radium radiation label PCS 1




Safety

General controls

During maintenance, the safety precautions must be adopted so as to protect the
loudspeaker cabinet and electronic components against any damages caused by short
circuit.

Leads must be placed far away from high-voltage and high-temperature components.

Maintenance
Note: Please carefully read "Safety" section in this manual prior to servicing work. In the
event of the conflict between the safety notice and maintenance work, the observance of
safety consideration must be put at the first place.

General caution notes
1. Before the operation, disconnect the plug of the AC power line connected to the
loudspeaker cabinet:
a. Remove any components, circuit board, subassembly and other devices.
b. Disconnect or reconnect the plug of the loudspeaker cabinet or connectors of other
electric appliances.
c. While connecting the electrolytic capacitor with the test component in parallel,
please note that the reverse polarity or replacement error of the capacitor will resultin
explosion.
2. Spraying chemicals around or on the loudspeaker cabinet and its subassemblies is
strictly prohibited.:
3. Only use the cotton stick wetted with cleaning agent to clean up the contacts of the
electric appliances unless there are other special requirements in the manual. The
cleaning agent is the mixture of 10% (acc. to the capacity) acetone and 90% (acc. to the
capacity) isopropyl ethanol (90% . 99% ).
Note: The mixture is extremely inflammable.
No lubricants can be used on soldering points unless there are other requirements stated
in the manual.

General welding rules
1. Use grounded welding head. Low-power electric iron and welding head with fitting
dimension shall be applied so as to maintain the temperature of the welding head at
230C~ 280C.
2. Use the resin cored solder (containing 60% tin and 40% aluminum) specified by RMA (
Radio Manufacturers' Association of the Unite States).
3. Maintain the electriciron and the tin content in good condition.
4, Thoroughly clean the welding surface. The cleaning shall be carried out with a wire
brush (0.5 inch or 1.25cn).The application of Freon spraying detergent is strictly
prohibited.
5. Following fusion techniques shall be adopted:
a, Obtain the normal temperature of the electric welding head.(230C 280C).
b, Heatupthe down-lead of the component until the tin solder melts.
¢, Use the antistatic solder sucker to molten the tin solder right away.

(28)



Note: In case of the overheating of the copper foil on the printed circuit, quick
operation is required.

6. Following welding techniques shall be applied:
a, Obtain the normal temperature of the electric welding head.(230C 280C).
b. First of all, hold the electric iron and welding rod, and point them to the component
lead until the tin solder is melted down.
c. Quickly move the electric welding head to the pin of the component lead and the
copper foil of the PCB (printed circuit board)so that the tin solder flows towards the
welded pin of the component lead and around the copper foil.
Note: In case of the overheating of the copper foil on the PCB, quick operation is
required.
d, Carefully check the weld zone and use a small hard-copper brush to remove
redundant tin solder.



Disassembly/replacement of IC (integrated circuit)

Certain printed circuit and PCB have slotted holes (in oval shape) in which the IC lead pins
are inserted. Level the IC lead pins along the copper foil on the circuit after inserting them
into the slotted holes. Following techniques can be adopted for the disassembly or
replacement of IC.

Disassembly:

1. Straighten the IC lead pins (to be dismantled) one by one and point the electric welding
head to the pins to melt down the tin solder.

2. Before detaching the IC, use antistatic iron sucker to suck out the melted tin solder and
then remove the components.

Replacement:

1. Carefully insertthe new IC into PCB.

2. Carefully bend each IC lead pin, point it to the welding pad of copper foil on the circuit
board and then carry out the welding operation.

3. Use a small and stiff brush to clean the weld zone (recoating the weld zone with PP is
unnecessary).

The important notices upon replacing the IC and component sheets

The IC and component sheets are so fragile that they are subject to the damage caused by
static. Therefore, we need to observe following items when carrying out the replacement:
(1) Must not use the soldering iron to contact the component sheets directly in case of any
damage caused by high temperature.

(2) Some components are subject to the damage resulted from sudden heating up. So, the
soldering iron must be pre-heated for a few minutes at 100C. Pay more attention to the
handling of the iron point to prevent the component from heating up suddenly.

(3) To weld general components, the service temperature of the iron point shall be kept at
approx. 240C. The temperature can be increased up to approx. 280C when welding the
components at bigger size.

(4) Since the compact-type components are incapable of containing more tin solders, fine
solders stick and thin solder layer (0.3mm) must be used. The solder can be
supplemented depending on the actual situation during the welding operation.

(5) While replacing the component, the welding operation must be fast and the caution
must be applied so as to avoid any damage to the circuit board.

(6) There are many terminals on the IC. After removing the component, thoroughly clean
the base board to ensure good contact for future reassembling.

(7) During the welding operation, prevent the tin solder dropping on the circuit board.
Otherwise, short circuit will happen.

(8) The mounting position of the component must be accurate. For the accuracy and
easier welding, align the first terminal of IC and fix it. Then align other terminals.

(9) To avoid any damage to the components and circuit board caused by repeated
disassembly and assembly, the replacement only can be carried out after the verification
of defective components.

(10) During the welding operation, carefully inspect the welded joints and higher attention
shall be paid on various small components connected to leading wires.

(11) After replacement, use the magnifying glass to check the items such as missed
welding, false welding or short circuit, "tilting or broken" printing lines, and poor contact of
adjacent components caused by welding operation.

(30)



Disassembly/Replacement of small discrete transistor

1. Clamp and remove the detective transistor.

2. Bendthree led pins into "U" shape and insert them into the circuit board.

3. Bend the lead pins of areplacing transistor into "U" shape.

4. Place the lead pin of the replacing transistor on corresponding welding pad to ensure
the good contact between metal units.

Power output, disassembly/replacement of transistor components
Heat up the area around the lead pin of the transistor and clean the tin solder.

. Remove the mounting screws of the cooling fin (if it is available).

Carefully remove the transistor from the cooling fin on the PCB.

Insert a new transistor into the circuit board.

Weld each lead pin of the transistor and cut out redundant leading wire.
Remount the cooling fin.

SOhWN =

Disassembly/replacement of the diode

1. Clamp the lead pin of the diode (clamping the body of the diode will be the better) and
remove defective diode.

2. Bendtwolead pins and have them vertical to the circuit board.

3. Check the polarity of the diode and then place the leading pin of the diode on the
corresponding welding pad.

4. Tightly press every connection point and weld them on.

5. Check soldering points of two leading pins by the side of the copper coating of the PCB.
If the connection points are not glossy enough, add tin solder for re-welding.



11.Error tracing and checking form

Symptom Cause Solution
Voltage do not accord with unit Select correct voltage
No power Voltage do not input unit Connect the power cord properly
Fuse melting Replace asame specification fuse
Discis bad Replace the disc

Play format of disc is not compatible Replace compatible disc
Unable to play

Cartridge cord is not connected well | Connectthe cord properly

Cartridge(pick up lens) is malfunction | Replace cartridge

Audio cord is not connected well Connect the audio cord properly
No sound output Play format of disc is not compatible | Replace compatible disc
Software is wrong Turnon again









